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#

mac-address timer no-aging

#

===============display mac-addre

MAC Address ~ VLAN ID State Port/Nickname Aging
10e8-78ce-6a92 10 Learned BAGG3 N
10e8-78cd-5692 11 Learned BAGG4 N
10e8-78ce-6a92 50 Learned BAGG3 N

%Dec 24 00:34:31:729 2020 SHNQ-PA-CMNET-SWO03-lyljf7606X RESMON/3/RESMON_SEVERE: -
Chassis=1-Slot=4; -Resource=mac-Total=163840-Used=163570-Free=270; Free resource
decreased to or below severe threshold 10%.

%Dec 24 00:34:32:154 2020 SHNQ-PA-CMNET-SWO03-lyljf7606X RESMON/3/RESMON_SEVERE: -
Chassis=2-Slot=0; -Resource=mac-Total=163840-Used=163572-Free=268; Free resource
decreased to or below severe threshold 10%.

%Dec 24 00:58:11:770 2020 SHNQ-PA-CMNET-SWO03-lyljf7606X RESMON/3/RESMON_SEVERE: -
Chassis=2-Slot=4; -Resource=mac-Total=163840-Used=163559-Free=281; Free resource
decreased to or below severe threshold 10%.

%Dec 24 01:40:59:546 2020 SHNQ-PA-CMNET-SWO03-lyljf7606X RESMON/3/RESMON_SEVERE: -
Chassis=1-Slot=0; -Resource=mac-Total=163840-Used=163578-Free=262; Free resource
decreased to or below severe threshold 10%.
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====debug stack show portinfo chassis 1 slot 1====

Port Information of STACK Module

Stack 1
Portnum: 0, ActiveNum:0, IsShutDown:0, Mtu:0, FwdStat:???
PortOnBoard:
Stack Ports: Master~255/255/255:255 IsChecked:1

Stack 2
Portnum: 12, ActiveNum:12, IsShutDown:0, Mtu:0, FwdStat:FOWARD
PortOnBoard: Slot 1:(12,12)

Stack Ports: Master~1/0/37:0 IsChecked:1
1:1/0/37:0, PortType:2, IsActive:1, HgMode:1

: 1/0/38:0, PortType:2, IsActive:1, HgMode:1

:1/0/39:0, PortType:2, IsActive:1, HgMode:1

1 1/0/40:0, PortType:2, IsActive:1, HgMode:1

(1), IsShutDown:0, LogSlot:
(1
(1
(1
:1/0/41:0, PortType:2, IsActive:1, HgMode:1 (1
(1
(1
(1
(1

)

), IsShutDown:0, LogSlot:
), IsShutDown:0, LogSlot:
), IsShutDown:0, LogSlot:
), IsShutDown:0, LogSlot:
1 1/0/42:0, PortType:2, IsActive:1, HgMode:1 (1), IsShutDown:0, LogSlot:

1 1/0/43:0, PortType:2, IsActive:1, HgMode:1 (1)

1 1/0/44:0, PortType:2, IsActive:1, HgMode:1 (1), IsShutDown:0, LogSlot:
9: 1/0/45:0, PortType:2, IsActive:1, HgMode:1 (1), IsShutDown:0, LogSlot:
10: 1/0/46:0, PortType:2, IsActive:1, HgMode:1 (1), IsShutDown:0, LogSlot: 1
11:1/0/47:0, PortType:2, IsActive:1, HgMode:1 (1), IsShutDown:0, LogSlot: 1
12:1/0/48:0, PortType:2, IsActive:1, HgMode:1 (1), IsShutDown:0, LogSlot: 1

, IsShutDown:0, LogSlot:
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